0006 41080

Parts Breakdown

Model FW-CN-




Parts Breakdown

Model FW-CN-0006 41080

Item No.
78330
78331
78332
78333
78336
78337
78338

78339

Description

Stainless Steel Kettle for 41080
Water Tank for 41080

Heating Element for 41080
Black Shell for 41080

Wire and Plug for 41080

Screw M4x6 for 41080

Nut M4 for 41080

Nut M5 for 41080

Position

4
5
7
8
€

Item No.

78335
78340
78341
78342
78343
78344
78345

78346

Description

Bottom for 41080

Leg for 41080

Screw M5x16 for 41080
Screw M4.2-9.5 for 41080
Cover for 41080

Screw M4x6 for 41080
Gasket 4” Diameter for 41080

Turning of Emergency Regulator for
41080

Position

Item No.

78347
78348
78349
78350
78351
78352
78329

Description

Indicator Light for 41080

Red Point for 41080
Emergency Regulator for 41080
Thermo ON/OFF for 41080
Screw M3.9.13 for 41080
Stainless Steel Ring for 41080
Complete Lid for 41080

Position

21
22
23
24
26
27
28



